SET-B ©
X returned goods for 2 2000 to us
debited will be:

A) Goods account

B) X's account

C) Return Inward account® 4
D) Return Outward account

Q2. Payment for Income Tax 2 5,000 will be debited to:
A) Income tax account

B) Drawing accounte .

C) Capital account

D) Profit & Loss account *

)23/.‘ Cash received from Kajal 2 36,000 after allowing

her cash discount of @ 10 %. Amount debited to
discount account will be:

A) Z3.600 2.
C)%4.400

B) 24,000
D) 240,000

Q4 Double Column Cash Book records :
A) Only cash transaction

B) Only credit transactions
C) Cash and Bank transactions W
D) All transactions

RS Goods sold for cash are recorded in the:
A) Salc_s\Bo_ok -
~B) Cash ﬁ&?&
Sales-Return book
D) Petty Cash book

6. Choose the correct meaning for the idiom in
bold: He studies in the city and resides in the
country, so he has the best of both worlds.
A) overloaded with work

B) a win-win siluation@

~

. The account

9.

@ hoose the option which means the same as

Cho&t:ount Assistant (Post Code-13)

0 : .
s¢ the option which means the same as

e
0

Turbulepy
A) Unsettled
B) Settled
C) Airy
l/”rl‘rcmcndous )

Choose the option which means the same a$
Zealous™

A) Envy

B) Greedy

C) Unsuccessful
D) Enthusiastic (O

“Balfle™”
A) Confuse * = 0 -
B) Careful
C) Behold
~ D) Bestow

311/ Choose the word which is most opposite in
meaning to the word “pacify”

. A)Enrage <0

: B) Appeasc ,
C) Calm
D) Mollify

Q7. Choose the word which is most opposite in
meaning to the word “dc_l‘cnd“
Pay) Attack —2

B) Secure

C) Safcguard

D) Attract

Qﬁ. When the Teacher entered the class, a student
on the blackboard.

C) to have a lot of time
D) visiting unannounced

(‘\

Choose the correct meaning for the idiom in
bold: Asif said that he was under the weather
last week, but he is better now.

A) to forget things
B) being busy
C) stuck at home

(P feeling unwell ) -

A) wrote

B was writing
C) writes
D) is writing

QM7 Asval
A) Watch
B) was watching™ (rO
C) is watching

D) Watched

~

> 2

TV when her husband came,
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SET-B
Q15.

Zebaalways ____ to prove that the moon
revolves around the earth,

A) tried
-B) trics P -
C) was trying
D) is trying

./ 1 think it
" A) Shall
fay .

C) Might
D) ought to

}471

child.
A)Could ©
B) Can
C) Should
D) Must
O\

Q,J-/S/ﬁle children
}f)'need not

B) oughtto 20 -
C) Should not
D) mustn't

not rain today.

SWim across the river when | was g

M Pick out the clause in the following sentence:
Arjun played when evening came.

A) Arjun played

B) Played when evening
_-C) When evening came —

D) Evening came

Q20. Pick-out the ph;ase in the sentence: Ki?an
played at-sunset.
A) Kiran
_B) Kiran played
C) Played at sunset
D) Atsunset 50 -

0Q21. Fill in the blank with an adjective clause: The
bat is mine.

A) with a broken handle

AB) which has a broken handle /0>
C) and a broken handle

D) with a breaking handle

be sorry for their behavior.

Computer Virus is a

Account Assistant {(Post Code-13
Select the correct active form om
senlence:

The traveller was commanded to leave the

country by the officer.

/A)’IT he officer commanded the traveller to Vb

“leave the country. [PV N i
) The officer commanded the traveller leave

the country.

C) Let the traveller commanded to leave the
country.

D) The officer commanded the traveller, to
leave the country.

}222.

Select the correct active form of the following
sentence:

The short man was being laughed at by the
students.

A) The students are laughing at the short man.
B) The students laugh at the short man.
C) The students laughed at the short man.

Q « P) The students were laughing at the short man.

023,

Q24 Seclect the correct passive form of the
following sentence:

They have invited the parents as well as the ¢
_ children.

A) The parents as well as the children has
been invited.
)3) The parents as well as the children have
been invited by them.
C) The children as well as the parents are
invited.
N¢ D) The parents as well as the children had
been invited by them.

25. Select the correct passive form of the
following sentence:

The police beat a.number of rioters last night.

A) A number of rioters had been beaten by the
police last night.

B) A number of rioters were being beaten by
the police last night.

C) A number of rioters has been beaten by the
police the night before.

A2) A number of rioters were beaten by the
police last night, a

A) Set of Imtructions@ .
B) Hardware —~

Computer Disease -
7
D) Input Device |
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SET-B
Q27. Formula in Excel starts with which character
A=
B) @
O#
D)%

228, PDF Full form 1s
A) Printable Document Format
~B) Portable Document Format

) Percussive Document Format
@

\

D) None of the above

Where the Firmware is stored?
A) Stored in Hard Disk

B) Stored in ROM =0 *

C) Stored in RAM

D) Stored in Pen Drive

Q 71 Which key 1s used to run the PowerPoint
| / Presentation in Microsofi Power Point?
A)F1
\};}'1’3 .
C)Fs —) (D

D)F7 - .
| ) F7 oy !
. hye V¥
21, In ace rtain code language *GOAT” is written
as "$0013467649" then in the same language
| how will ‘DO’ be written?
{ A) 520144 2 0. 19
* _AB) 222591 - \
8] C) 592225 LA
2l 379370
d D) 529522

=
Q}’.’./‘.-\ woman says “If vou reverse my own age, the
figure represents my husband’s age. He is, of
course. senior to me and the sum of our ages
is 11 times that of diflerence of our age. The
woman's age 1s: W __Hiwb

b a5 vears ug = v,
M B) 60 Years 6o
& ()75 Years o & O
~—" D) 90 Years

337 A tailor has a number of shirt pieces to cut
from a roll of fabric. He cut each roll of equal
length in 1o 10 picces. He cut at the rate of 45

o

cuts a minute. How many rolls would be cut in

— A . ;
O o it Assistant (post co

Q36

Vi 4

—\) Nationg)

Q3. Shy

o3}

Q38,

A39.

}4& I

—— o T,
je-13

et the wo

td whic
the Tetiers of ch cannot be formed from

the word *EDUCATIONAL .

B) Dean
C) Neat
D) Lion

am walks 2 KM towards North from his
?mc"- then he turns towards East and walks

3 KM Again he turns South and walks 6 KM.
Atwhat distance from his office he is now?
A) 1T KM
B)9KM
O SKM
D) Can not be determindd

W

.——"CL-

Replace the question mark (V) in the following
series with suitable options.
4,7.12.21.38.(D)

)71 -~
B) 64
C) 66
D) 72

1£Z =52 and ACT = 48, then BAT will be

equal to !

A) 39 !9

B) 41

C) 44 }

~D) 46 N3G %
\\

Today is Varun's birthday. Onc year, from
today he will be twice as old as he was 12
years ago. How old is Varun today?

A) 20 years

B) 22 ycars

C) 25 years
D) 27 years

" <

> )
a3 Pee I’
= o,

.S

If PUNJAB = QTOIBA, then
CHAND]GARH=? -
A) DGEMEHTHZTG
_B) DGBMEHHZSG
C) EGBEMHFZTI
D) BIZDCJEBQI

K

"

f x means +, - means %, = means +and +

24 minutes? means- than (3 - 15+ 19)x 8§+ 6=7
MR Y L $F A8 xx |(3reide g - =
B) 54 (1 W §roy B) 4 <4 o LY
C) 120 ' —~€)2 ' DAl G
o 47{’%/1/ D)-1 Ty
ﬁ",‘/ el f _§ (2Wcyr m)+8-b=
[ ® /’T\,’/ " Page 5 of 12
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SET-B !
};“ . K)}:b 200 = 584 then the value of X iS recfion -Quesﬁon NO.
B) 20 \ 'L O Instruction
)28 % Read t mformatnon carcl‘ull answer the
D) 38 \S N questions ; word  rearrangement
K X9 <G machine \:]hcn rg;;/un an Wwords
‘ anges them following a ar rule in ev
2. 1f48327 =6 & 43256 =2, then 37632 =0 ;:e;: Tl%e following is an {i;lluslzration of input and fl:z
v, ) 1 U " - b?'" steps of re-arrangement:
B)2 AT} 18 WY - Input: Sachm s shots are rcally hot in cricket.
v »7 0) %' 53 Y W \’Aﬁ Step-I Sachin’s in are really hot shots cricket.
g )’ 2 gL * | Step-II Really are in Sachin’s cricket shots hot
4" Step-lI1 in are really hot ot shots cricket Sachin’s
- NATION: ANTINO :: HUNGRY : ? Step-IV in cricket really hot shots are Sachin’s.
A) HNUGRY /{QH Step-V hot really cricket in Sachin’s are shots
~B) UINGYR The further steps go on in the same manner. As per
C) YRNGUH - / the pattern followed in the above steps, find the
D) UNHGYR “ approprlalc step for the given input or vice versa in
questions given below:
A class is composed of x girls and y boys. y -
What part of class is composed of girls? Q477 Inpl:lti ‘team st‘lddcn now to act police sEatf‘ :
A) X(x+y) N (5\‘1 Y Which of the following stcps' would be ‘police
B) x/(x+v) UH w Y8 staff to act sudden now team’.
s — | &% A) Step-l
C) x/xy = P
lo 1 B) Step-11
AP yixy { C) Step-1II -
Direction Question No. 45 & 46 -~ <2 Step- T, ¥ :
Instruction Q48. If step IV of an input is ‘none of the politicians
Examine carefully the following statement and have toured India’, find the step VI
answer the questions. 1o (K) P ?g. A) have polmcu’ans none the toured India of

B) India politician have toured the none of
C) have the none politicians toured India of
D) India have politicians nonc of the toured

A and B play football and cricket.
B and C play cricket and hockey.
A and D play basketball and football. \*

' hockey and basketball.
© and Dplay st 2 /Q49 If'step V of an input is “no of the has happy at

<Q"~l( Who does not play hockey? - z;lcl 1;1123&:, \\l’l}lx‘l)ch of the following will definitely
A) D / P
: v _A) happy all at of no has the
B)C \o -
e B) all at happy no of has the

C) the has no of at all happy
A D) Can not be determined

g WVho plays football, basketball and hockey?, \
/64/6)%)}‘; plays QSO Step I of an input is * m l:. four of three be

serious. Find out the VII step of that input.

B) g Yo% A) serious in three be four of the
g) . \/)@ . B) in the three be four of serious
)AL [« C) serious in three be the of four
Jf Ui lo- D) Cannot be determined
y"" 7 W #
M A 4 [
e y
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SET-B ; Account Assist, vyl
- Q5T Full form of NATO is- Q38" 0p Which date J&k Re o Eos,t Code-13
A) North American Treaty Organization Come into foree. corganisation Act.2019
B) North Australian Treaty Organization A300
O) N:onh Atlantic Target Organization B) E)*, Ot:tobcr 3019 4
D) North Atlantic Treaty Organization = Ctober 2019 :
' ‘ O 31 October 2019 7
/Q:’-B. Wuhan is the capital of. -~ D) 03 August 2019 -
A) Hubei Proﬁncc\\/ Q39
5 : 26
B) Henan Province 4 s a beautitul valley that marks the
S Guizhou Province . confluence of the Indus River and Zanskar
D) Yunnan Province Y R\l)‘i,r
A INImmu f}
4 B) Shyok '
33/ Th Lk
W ; ATAL tunnel reduces the travel time and ) Nubra - 5
overall distance between- D) Indus ‘
f A) Manali and Kevlong v )
| 0 1anali and Shimla <Q00. Bharatmala project is associated with-
| C) Leh and Ladakh A) Horticulture
D) Shimla and Kalka _B) Railways
C) Road
{ )54 : :]":1131 I:jmong the following is not correctly D) Information Technology P
\ ed-
1 8) Absisdabiad-Sah ) LQ61. In accounts recording is made of: 1c M~E
| B \ e e “ﬂ,“““ ~A) Only financial transactions
|' e “M\ _ B) Only non- financial transactions
7 C) Hyvderabad-Moosi . C) Financial and non-financial transactions
’ D) Ujjain-Kshipra D) Personal transactions of proprietor
£, )
l _255. India's First Indigenous COVID-19 Vaccine Q62 Accounting cycle starts with:
R A) Recording of transactions in Ledger
'y A) Spumik \" vaccine (B) Rccord.ing ol: transactions in Journat
. B) Covishield vaccine 0) l’repar{ng Tnal‘Bz\lance
' _€) COVAXIN vaccine D) Preparing Trading Account
J D) Moderna vaccine @ghich of the following is not the limitation of
, . ) . LA accounting?
l‘ 5o. Y\ hich among the following events took place A) Based on accounting conventions +
| mupedmlcl) before the massacre at Evidence in legal matters .-
i Jallianwalla Bagh- ‘q;“. . L )
, = C) Incomplete information  ~
, A) Passage of the Rowlatt Act a9 D) Omission of qualitative inf X
; ) . S ¢ /¢ information
i B) Minto-Morley Reforms —2#% |7 1
! C)llbenBill ~ — . Fixed liabilities include:
{ D) Gandhi-Irwin Pact -~ A) Bank overdraft
; _ -B) Long- term loans
,Qﬁ The I_:_x_rggsl and the second least populous - C) Short- term loans
union territory of India is- D) Creditors
A) Lakshadweep :
B) Jammu and Kashmir /06 \“\'hich of the following is Revenue
C) Daman and Diu }:xpcndn'urc?
_P) Ladakh /-r\)‘ Re!\m.r expenses
_»B) Building construction expenses
() Expenses on purchase off machinery>,
D) Purchase of investments,
B -
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r_iEI;
L66.

B) Assets for the factory
_) Goods for resale
D) Investment

/Q(,';_ Which of the following is the Capital
expenditure? ‘

A) Wages paid for repair ol'building

B) Wages paid for white washin

A) Wages paid for construction

D)W

2 of building
. of building
ages paid for cleaning of building )

AR08, Voucher is prepared from:
A) Journal entry

B) Ledger account
~C) Source documents
D) All of the above

9_6‘7.’\\'hich cquation is correct out of the following:
A) Assct = Liabilities — Capital
B) Asset = Capital - Liabilities A
v’

) Assets = Capital + Liabilities
D) Asset = Net worth- Liabilities

Q70. Main clements ol accounting equation are t== |~

A) Capital, Creditors and Bills Payable
~—B) Asscts, Liabilities and Capital—"
C) Cash. Stock and Debtors
D) Bank Balance, Investments and Bills
Receivable

Pick out a source voucher/documents from the
following:

A) Debit voucher

B) Credit voucher

C) Transfer voucher

_P) Invoice

Credit purchases of furniture will be recorded
through which voucher? A
A) Debit voucher

) Credit voucher
C) Cash voucher
D) Transfer voucher

Q7.

/072.

¥

S

v

[
qo

2973. Which of the following is Real account?
A) Salary account
4}3) Debtors account
C) Expenses account

')3) Stock account

Purchases refers to the buyi ng r\\"ﬁds sold to Mr. Agarwal against cash will
A) Stationary for office use /(' be debited to:

y75. Rent paid o1

916-‘

QR77: Sources of data collected and compiled by

}}8.

Q79. A survey that asks the respondent to indicate

A) Agarwal's account
B) Sales account

C) Goods account

D) Cash account

S
(\“

andlord should be dcl_(v\i,lgd to:
s

U™ g
o

A) Drawings account
_B) Landlord account

() Rent account
D) Personal account

A process of collq@g_gﬂlﬁly,of.facls in
svstematic and organized manner to report any
social p'r'oblchEr—sT(iltu’s*dl"I'acls in a certain
area of society is known as:
) Case study

B) Survey

C) Historical research

D) None of these

others is called
A) Primary data
_MB) Secondary data

@) Primary and secondary
D) None of these

Which of the following statements are true
about data in research?

A) Data can be qualitative
_-B) Data can be quantitative
C) Data can be both qualitative and
quantitative

D) Data can be quantitative but never
qualitative

their age and includes response categorics of
age 20-30, age 30-40, age 40-50 and age 50+
Which important rule for constructing closed-
ended items for questionnaires?

I: Exhaustive

II: Tangible

[1I: Comprehensive

[V: Mutually Exclusive

A)land Il

B) Tand IV

C) Only III

)‘)) Only IV

]
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SET-B ;
:QKU- Which of the following steps are required (0
design a questionnaire:
[: Writing primary and sccondary aims of the

stuqy B) abe.com
II: Review of the current literature C) india.org
111 Prepare a draft of the questionnaire Pp’) ﬂu@l;b g
1V: Revision of the draft R
3; II :I] 113 | Qxfwhich one is an Input device?
L A) Floppy Dis
OV . B) RAII;II)) o
DYLIL 1, vV 4
' _L) Keyboard —
D) Speakers

Q81. 1 the simple interest for 2-vears is 2500 at 10%

rate of interest. Find the compound interest
for the same time,

A) 2525 Y g6©

B) 2500 & oY

C) 2200 o 7

D) 2210 T ¢
oL 2

)82 [?if ﬁ:rcpcc between compound interest and
simple interest is 23375 in 2-years and the

ratc of interest is 15%. The principal amount is: |

A) 150,000 p

B) 2100.000 \ ¥
p( ' ( /v‘

C) T160.000
D) 200,000 ~Ze
83
mean of their height is 165, what is the value 1
of x?

Yl
168, 170. x. 160, 162,164, ]62'
A)]?O'L o+ 1 A +\5°4'\\>4'\
B) 1657 'Cc,\

V6
©) 160 4 nub =

A
)84, What is the approximate area of India
(in million Km?) 2

_KAy3.28 |\ b | 6

B)2.78 y W)

C) 435

D)3.6 Y //7'/

185. Which of the following cannot be drawn from
the population pyramid of a country? 6%

A) Dependency ratio \\
B) Population growth rate —=
C) Gender distribution within population
D) Total population size

CCOUNt Ascictare fo o oo <o
My oy ML Assistant (Post Code-13)

MY () Itis a round disk that stores software and

Bt L ona~
B

—__A

of ing i [

e the following is a valid Email
A) WwWw.learn.com

Q88- What is RAM?
A) It's a way of counting 1 and 0
) It is a temporary memory storage chip
inside the computer

information
D) It's Permanent Memory of the Computer

Q89- What is the file extension for all Microsoft
Word documents/file?

CA) Axt

B) .word
~// C) file

/D) .doc/.doex

3. Height of 7 students is given below., If the })g@ What is the full form of CPU?

A Central Processing Unit
B) Central Product Unit
C) Core Processing Unit
D) Clock Picket Unit

«

W

I- Which Button/icon is used for making
Bulleted List in Microsoft Word?

A) 1= B)

.p‘h.
il

O = D) A~

M In the email address,
mickey_mousc@disncy.com, the user 1D is

g ‘ —A) mickey mouse
B) Mouse
C) disney.com

D)@
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Account Assistant {FOst Lode-

SET-B ‘ li)ﬁ
roo’( Which key moves your cursor t'm.Msoﬂ Access belongs to which category?

¢ cc" to Q s

the next cell on right hand side in an Exeq] A) File Manager

o B) Free Software

A) St C) Flat File Manager
AT _~D) DBMS/RDMS

C) Enter
D) Ctrl + Enter

4,Read Onlﬂ/lenﬁr)' in Computer is ca|jeg
}9 AFRAM—"

) ROM ‘
C) Primary Memory,~
D) Secondary Memory

Q95. URL full form is
A) Uniform Region Locator

B) Universal Region Locator
C) Uniform Resource Line
D) Universal/Uniform Resource Locator

_R96. The button/icon used for doing Spell Check in
Microsoft Word?

A) By AB)

O = Ry -’

. The Shortcut Key for copying the data on
clipboard is
A) Ctrl+V
B) Ctrl+X

_@) Cul+C

D) Ctrl+Z

_Q98. Which of the following is an output Device?
A) Pen Drive

~ B) Printer —
C) Compact Disc
D) Keybhoard

’@. The software which is freely available on the
internet for users and with source code for
enabling further enhancements by developers
is called :

A) Proprietary Software

B) Open Source Software |
C) Free Software
D) Unlicensed Software
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